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1. deAr= 16, 36, 45, 48 § ¥ weiw & fwfag 2| 5.
el AN HAH HI T 9 gEEr R 2
(a) 9180
(b) 9360
(c) 9630
(d) 9840
2. AR x=y" y=2"3M z=x°%, A abc & uA
TR 4%
(a) 1
(b) 2
() -1
d o
3. AEx=24+222 218 a =iwh x®— 6x2 + 6x|7.
w1 U F41 B0 2
(a) 2
(b) 1
(I
d -2
8.
4. XXYXX % &7 §I 9f9 a7 6t fref gead 33
o oo &t & 2
(a) 1
(b) 3
e) 5
(d) o
GTHY-T-XMT (2-A)
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uTe 3ehi i UF HEA XY235 8, @ 3 ° vy
TR X Y USR & w8 fF X + Y <5
? 1 (X, V)% arl ¥ @i 3 1 gen w=n
.3 B

(a} &
(b) 6
e} 7
(d 9

gfg x® — 6x — 27 > 0 &, o f=fafes 4 @
FH-41 Hl 7 2

(a) —-3<x<9

(h) x<9dFMx>-3

e} x=99Mx<-3

(d) FaATx<-3

&A1 38808 F WINeh ! wET, fawel 1 afk
@2 35 eI Hi BISH, fhadl & ?

(a) 74

(b) 72

() 70

(d) 68

g 9g9El % TWewd @HMEd®  (HCF)
N Sgaq |@ugEe (LCM) 09T (x + 3) 3R
- 9x% —x + 105) & | A 3 ¥ w T
x?—4x—21%, O U AIE FE ?

(a) x2+2%—21
(b) =x2+2x+15
(¢} x2-2x-15

d) xZ-x-15
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1. The highest four-digit number which is|5. A five-digit number XY235 is divisible by 3

divisible by each of the numbers 16, 36, 45, 48 where X and Y are digits satisfying X + Y < 5.
is What is the number of possible pairs of values
of (X, Y)7?
fa) 9180
(a) 5
(b) 9380
(b) 6
(e} 9630 © 7
(d) 9840 (d) 9

2. If x=y? y=2"andz=x" then the value of |6,  If x2 — 6x — 27 > 0, then which one of the

abcis following is correct ?
{a) 1 (a) —-3<x<9

(by 2 (b) x<Borx>-3
e B ¢ (¢) x>Y%o0rx<-3
@ 0 {(d} x<-—3only

7.  The number of divisors of the number 38808,

Fx =3 4 2% 4 9l j ;
o If x = 2 + 27 + 27, then the value of the exclusive of Lhe divisors 1 and itself, 15

expression x3 — 6x2 + 6x will be

(a) T4
ia) 2

by 72
L © 70
g 9 d 68
d -2

8. HCF and LCM of two polynomials are (x + 3)
and (x2 — 9x? — x + 105) respectively. If one of

4. How many five-digit numbers of the form :
the two polynomials is x? — 4x — 21, then the

XXYXX isfare divisible by 337

other is
(a} 1 (a) =x2+2x-21
(h) 3 b)) x2+2x+15
e} & e x2-2x-15
(d) Infinite (d) x*-x-15
GTHY-T-XMT (3-A)
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9. IR o« IR p T U anafes e ¥ R
wrp=-2 oftap=T 8w 1<peqer
2, @ fforfias § @ S mgm 2 7
i ot
a+f
1 1
(b) E+E
1
(‘-’3} —E
wfp
(d) i
10. o FWRT ‘A’ 3 B A wF Wy fiew o
@ 57 d qu e | af? 4 T e § R
wHgEa ¥ @ 6 sw@ g wriwma @
% foem gran, oft B’ 3 aras § g wrivma
4 #8 e s v-faEd seamar oo
fore gran, &1 &1 3 &= & qu € ST | arben
‘A’ 36 @ I e fa7 F qo wom 2
1
fEl} SEF&H
1
(b) 4312#
1
(c) 55%
1
(d) Ezﬁq
11. Afe xﬁﬂiﬁ—k[x2+—lﬁ-l B @ k fFEs
X b S
e R ?
{a) [xﬂ—1+x—12~)
(b) Iix4—l+xi4]
(c) {}:4 |-1+xiéj
@) {x‘*-l—xi_i
GTHY-T-XMT (4-

DOMLQADED FROM : WAV | ASEXAMPORTAL. CQOV

12,

13.

14.

15.

A)

a7 dF wArm T Tems % ot
TRIEE 110 ¥, A 3% =l B TOTES &
20T 2

(a) 625
(b} 654
(c) 684
(d)

3l QUi p 3 q, 98T p > 60 3 q > 60 2, F
TR 7168 ¥ 3R I HEGH EHYEd®

725

(HCF) 16 ® | 3 2 quifent 1 Aot = 2 2

(a) 256
(b} 184
() 176
(d) 164

afe logyy 2 = 0-3010 3 log,y 3 = 0-4771 &, &l
log o (0-72) 1 9 foFEsh AT R 2

(a) 0-9286

(b) 19286

(¢) 1:8572

(d) 18572

A ¥ b =M abe =12, a1 L4141
=1 A9 e =t g 2 T
(a) -1

(b} O

e 1

d) 3
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10.

11.

GTHY-T-XMT

If @ and p are two real numbers such that

c1+[3=—£1— and af =L, where 1 < p<g<r,
B P '
then  which one of the following is the

greatest 7

(=1

(a) ——

Two workers ‘A’ and ‘B’ working together
completed a job in 5 days. Had ‘A’ worked
twice as efficiently as he actually did and ‘B’
worked one-third as efficiently as he actually
did, the work would have completed in 3 days.
In how many days could ‘A’ alone complete the
job ?

(a) 3% days
(b}
(c) 5% days

(d)

If x° +iﬁ=k[xﬂ +i2\,thenkis equal to
X
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(5-

12,

13.

14.

15.

A)

If the sum of the squares of three consecutive
natural numbers is 110, then the sum of their

cubes is

(a) 625
(b) 654
(c) 684
{(d) 725

The product of two integers p and q, where
p > 60 and g > 60, is 7168 and their HCF is 16.
The sum of these two integers is

(a) 256
(b) 184
() 176
(d) 164

If log;, 2 = 0-3010 and log;,3 = 0-4771, then
the value of logqy, (0-72) is equal to

(a) 09286
(b) 19286
(e) 1:8572
(d) 18572

If a* = b¥ = ¢ and abe = 1, then the value of

1 + g I - will be equal to
E ¥ B

o

(by O

(e} 1

d) 3
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16. AR o 3R p THIEO! ax? + bx + ¢ = 0% I E,

L i =1 G 18 7

ac+b af+b

) =
hy —
(e) —

@ —

17. o a6t it f9 TEnet XYZ, YZ2X 3R ZXY &+

Hey 4 fefaied seri w faem i

1. et w AEd, (X + Y + 2) ¥ 9y

TR
2. HEERT 1 AMEE, 111 ¥ AT R |
39 HE H ° BTV GE AR
(a) a1
(b) had 2
(¢) 13T 23t
(d) T 13RA A2

18. 3 &l IWl (m, n), F& m AN n 3 THFR F
B
-z %

E |-

d) 2

GTHY-T-XMT
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(6-A)

19.

20.

21.

MR oa=xyP L b=yl ez 18 W@
al~Fbf PP foREe UET g 0

(a) abe

(b)  xyz
(-

(d) I94H § | Hi T8

31 WH RS T A H HE 5 4 F I
T R | S AP0 b ofig 1 FHW 9° B |
TrfeRas Femt w faar Hifi .

1. 39 9 O 9Ey B oI gE o1 2 |
2. I 4 TFH YW @ 3N gEU e # |
3. I =TE BV 1 ATHRA 720° B |
sﬂﬁmﬁﬁaﬂ:{-wﬁm’l%%i

(a) “hae 1

(b) had 2

() 133

() 233

SATH 2x2 + 5x + 5 1 ITH AH T8 ?

(a) &

(b) 15/8
(c) —15/8
(d 0
a2 P 3 Q %1 sUHS Wew H 7, A %+g
W HE 18 ?
a) 1
by 2
P+Q
{c) Qg
PQ
(d) P+Q
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16. If o and p are the roots of the equation|I9.
ax2 + bx + ¢ = 0, then the wvalue of
1 1 .
+ 12
am+b afi+b
a
P
(a =
® 2
oE 20.
c
c) —
{ ab
% R
() abe
17. Consider the following statements in respect
of three 3-digit numbers XYZ, YZX and ZXY :
1. The sum of the numbers is not divisible
by (X + Y + Z).
2.  The sum of the numbers is divisible by
111
Which of the above statements is/are correct 7
(a) 1lomnl
4 21.
(b) 2only
(¢} Bothland?2
(d) Neither 1 nor 2
18. The number of all pairs (m, n), where m and n
are positive integers, such that | 22
1 1 1 3 .
— + — — — = — 15
m n mn
(a) 6
(h) 5
(¢) 4
d 2
GTHY-T-XMT (7T-A)
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If a=xy?P-1, b=yzi-1 e¢=2zx"1 then
ad-rbhr~PcP—9 jisequal to

(a) abe

{b) =xyz

ey 0

(d) None of the above

The number of sides of two regular polygons
are in the ratio 5 : 4. The difference between

their interior angles is 9°. Consider the

following statements ;

I One of them is a pentagon and the other
is a rectangle.

2. One of them is a decagon and the other
is an octagon.

3. The sum of their exterior angles is 720°.

Which of the above statements is/are correct ?

fa) 1only
(b} 2 only
¢) land3
d) 2and3
The minimum wvalue of the expression
2x2 + 5x + b is
(a}) B
(b) 15/8
(c) -15/8
d 0

If H iz the harmonic mean of P and Q, then

the value of % + % is

(a}) 1
by 2
F+Q
(c) PQ
PQ
e P+Q
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23. @& +1, +2, +3, +4 # & UH a7 T 7

1 ANTHSA T & 2
(a) 0

(b) -30

(e} 30

(d) 565

24, T4 Bxs—zxgy—lﬂxy2+ lﬂg,.rafl'ﬁ {x—2}')@
famfaa fpm omar 2, & Yusa e sosx

BT @ ?
(a)

b} ¥
(c)
(d)

25. 'Qfaah+bc+ca:ﬂ%,?ﬁ

(®” —ca) (c® - ab) + (a* - be) (c® — ab) + (a” - be) (b —

ra)

(a2 = be) (b? —ca) (c? —ah)

=1 /I 1B ?
(a) -1

(b) 0

(e} 1

@ 2

26. @ gued Uiy w8, g w gut 99 i 59 H
it A THIG AW F Y § T 210 I

Bl & 7

(a) T 2000

(b) T 3200

(© T 4000

(d) ¥ 4800
GTHY-T-XMT
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(8-A)

28.

29.

30.

27. U qden #, 509 =l A 4 % 7Y, 40%

fe=dt & et gU it 15% T famai e g |
foret wftmra srerefi siisft it fa=dt <M & ar
'Y 7

(a)  20%

(b  25%

(¢) 60%

(d) 75%

100 m &l UH EEME, 100 m G TH TREHH
&l 10 ¥FUE § UR o ot B | el 6 =9

ferat 2 2

(a) 86 kmph
(b) 45 kmph
{c) = 54 kmph
(d) 72 kmph

T HISfhel HaW HHT 4131 % TR 20 km
%I gll 40 kmph =t iEd 99 ¥ T FT R,
U 3T 10 km 1 gl 10 kmph = HiEd =@
q T Far 8, AR TRE 30 km H T
40 kmph ! 3Td =919 ¥ 9 w441 2 | 9 9
I i 3Td = =4 R 2

{al 20 kmph
(b) 2667 kmph
(c) 2824 kmph
(d) 30 kmph

U T HIE (1000 m) 61 U= 2 § A, B &I
150 m & &aT &, Wi 3000 m = Uh 31
Az H, O, DH 400 m ¥ T2 | B F= D
Hit AT F I R | (A o R AL B, 0 &R
D o+t gfcifiraisti # vhamE =@ o @2d 8) |
gfg A 3 C, 6000 m 1 TH g2 T 91 o §,
dal Fefafer s e sRm s adi & 2

(a) A, CHI250m¥ gram &
(b) C,A®I 250 m T BT 2
(¢) A, C®H 11538 m ¥ 0T &
(d) C,A® 115-38 m ¥ BT 2
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23.

@ O
(b) -30
(© 380
@ 55

24. The remainder when

The sum of all possible products taken two at | 27.
a time out of the numbers £+1,+ 2, £3,2 418

3x? — 2x%y — 13xy? + 10y® is divided by |2g.

(x — 2y) is equal to

(a) Zero

h) ¥

e} w¥-5

(d) y+3

29.
25. Ifab + be + ca = 00, then the value of
(h? - @) (e? — ab) + (a® — bo) (c? — ab) + (a® — be) (b” —ca)
(a2 - be) (b® - ca) (c* — ab)

is

(a) =1

by O

e 1

30.

d)y 2
26. What is the principal amount which earns

F 210 as compound interest for the second

yvear at 5% per annum 7

fal ¥ 2000

(bl ¥ 3200

{c) 4000

(d) ¥ 4800
GTHY-T-XMT (9-A)
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In an examination, 50% of the candidates
failed in English, 40% failed in Hindi and
15% failed in both the subjects. The
percentage of candidates who passed in both
English and Hindi is

(a) 20%
(b) 25%
Le) 60%
(d) 75%

A train 100 m long passes a platform 100 m
long in 10 seconds. The speed of the train is

(a) 36 kmph
(b) 45 kmph
(c) 54 kmph
(d 7% kmph

A cyclist covers his first 20 km at an average
speed of 40 kmph, another 10 km at an
average speed of 10 kmph and the last 30 km
at an average speed of 40 kmph. Then the
average speed of the entire journey is

{a) 20 kmph

{(b) 26-67 kmph

(c) 2824 kmph

(d) 30 kmph

In a race of 1000 m, A beats B by 150 m, while
in another race of 3000 m, C beats D by 400 m.
Speed of B is equal to that of D. (Assume that
A B, C and D run with uniform speed in all
the events). If A and C participate in a race of
6000 m, then which one of the following is
correct 7

{a)] A beats C by 250 m
(b) C beats A by 250 m
el Abeats Cby 11538 m
(d) C beats A by 11538 m
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31.

- 32,

33.

GTHY-T-XMT

o foar, o W, u S O v At wfim
HR Gifar i g w1 AT 96 A & | @i
IiER 1 ¥ad ote gee B | g ad dig &
S BN, 79 gfEn % ot w1 oy
ATHe 66 o o | afg o frar B sy, @
1 w9 a1y H 6 T 2, 3 F 12 79
a1, Toar it amg feadt &nft 2

(a) 4479

(b) 4574

(¢) 4699

(d) 4899

‘A, B' 1 g1 H A1 T sreer afies 2 ain
T M Hl U F § B’ 6 ga d 10 o w5
AT 2 | I W B FEA [ HA T B F
[ETEREER-uuR,

(a) 12

() 15

(e} 20

(d) 30

W2 A Zue AW W SN @w gew ae
85 @l § 4, wyg H wiefeal 6 wa de,
g 0 deFi F FT T FH 0% B | FaA
S WoH aret wigHl $I GE, @ehl 6
TR HT 50% & AR S @ 9 e
6 o T, TSH DI ol ST F 60% B |
had 29e o Wer JTe |=) @) HEy, s=i
+1 FA H T 40% B 3N F 1294 ¥ F,
S 5EfHed 3R daa faw gHl wed § | Faw
el "o arel JsfHal it gem e 2 2
(a) 14

(b) 16

ey 19

(d) 35
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34. wH =Afh A et gFW & o wwgd X iy

3b.

(10-A)

il | fosht =t & wsed qedl 1 AT # 130
o | 9 X W HIE foht W T o ot awg v
9T 99 feshl 1 a1 | Tkt &t =1 wiftter &0 39
=ifts 9 € 136:75 1 Tl T H PRE BB |

fosh! #t Sie & vact avg Y o e o 7
@ TT5
(b) ¥ 85
(© T 122
@ <125

oty Al FEET & TTER, T TEER H
e feemn st uedt 1 e & ofl k) e
I o gA W o T H suer | B o
? | 3o a9l W1g, T h gy & o R s T
FoT TEEe w1 Imar fewmn w0 v ueh *
U Big S & o Srht % a9 9E T F
o | s T Y gy Bt B, @ el wmERe
# 3 feen 9 favar oot ¥ o o
ST @ AR sl 1 o W % few, @i edt
g1 2 | of 3@ = 88,000 T8 Hi 9IR Hi
AT 2 | At vl F Sraere @ B ged fha

a1 ?

(@) ¥ 1,00,000
(b) ¥ 1,24,000
(e) ¥ 1,28,000
(d) ¥ 1,32,000
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31. The sum of ages of a father, a mother, a son | 34.
Sonu and daughters Savita and Sonia is 96
years. Sonu is the youngest member of the
family. The year Sonu was born, the sum of
the ages of all the members of the family was
66 years, If the father’s age now is 6 times
that of Sonu’s present age, then 12 years
hence, the father's age will be
(a) 44 years
(b) 45 years
{¢) 46 years
(d) 48 years

32. ‘A’ is thrice as good a workman as ‘B’ and
takes 10 days less to do a piece of work than
‘B’ takes. The number of days taken by ‘B’
alone to finizh the work is
(a) 12
) 15 35.
(e) 20
(d) 30

33. Out of 85 children playing badminton or
table tennis or both, the total number of girls
in the group is 70% of the total number of boys
in the group. The number of boys playing only
badminton is 50% of the number of boys and
the total number of boys playing badminton is
60% of the total number of boys. The number
of children playing only table tennis is 40% of
the total number of children and a total of
12 children play badminton and table tennis
both. The number of girls playing only
badminton is '

(a) 14
(b) 186
() 17
(d) 35
GTHY-T-XMT

DOMLQADED FROM : WAV | ASEXAMPORTAL. CQOV

(11-A)

A person bought two articles X and Y from a
departmental store. The sum of prices before
zales tax was ¥ 130. There was no sales Lax on
the article X and 9% sales tax on the article Y.
The total amount the person paid, including
the sales tax was T 136-75. What was the
price of the article Y before sales tax ?

(a) T 76
(bh) 85
(e) ¥122
(d T125

According to Mr. Sharma’s will, half of s
property goes to his wife and the rest is
equally divided between his two sons, Ravi
and Raj. Some years later, Ravi dies and
leaves half of his property to his widow and
rest to his brother Raj. When Raj dies he
leaves half of hiz property to his widow and
remaining to his mother, who is still alive. The
mother now owns ¥ 88,000 worth of the
property. The total worth of the properiy of

Mr. Sharma was

(a) ¥ 1,00,000
(b) ¥ 1,24,000

(e) ¥ 1,28,000

(d) ¥ 1,32,000
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86. X+ g % 5@ i 4 <iael @0 3k v dat |39,
o Uk diqa @d | R F 99 H
staet it Fima iy % 51 f w6 Saa F
g} | 23 g 9 Tl w o
% ¥ % fom = 50 fRw R 38 v @iy e
foar ot g 1 v § e sz
ferm 1aRzF R ITH T 50 R G ™,
Hal % 5@ ! OF Faa I Hied 7= o
a) T75
(b) 50
(c) T 46

40.
d) T30

87. T (10) 9§ wES UH A 3R I\H Th K a1y
3:1% 39 A At | o ¥ 10 af AR TH
AT F AT 13 : 7 B | IAh! T 1Y
FE?

(a) 3994, 2199
(b) 55 99, 25 94
(c) TEEI'QQ,EEE'&C
(d) 49 99, 31 = 4L

38. WIS (60) TSH! I Uk H& H, 45 A=H i
@ed & 3R 30 os% FEE @ § | ufe
HET W TAF dH 2Hl Gell § T FODFY
Uh T IEYY el &, 9 FRad de% A
HEIE Geld & 7
(a) 30
(b) 20
g 15
(d 10

GTHY-T-XMT (12=A)
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3 IR gAORE, 5% R 4% % YRV s
W IR A | 496 % I T ™
T 405 % TUH 97 | FA fehall T U ot 1
4t 7
(a) & 1075
(b) ¥ 1100
() T 1125

(d) ¥ 1150

e (12) =aft, ufafeT 8 52 «m @ & afn
W dER @ | 3% 10 A @ & ) 9l
8 =fth 3ywey &, @t ®@ 1 8 fdi § qw =T
& T s wfifes feey =2 =m0 wifiw 2

(a) 1092

(b) 12%2
(@) 159
(d) 1892

UH GH o9 A 4 T 850 TR e A @
28 T g9 Wliar | 38 $8 U frem & W
3wt 39 o 9 s fwa w a= |k

JHH W 12:5% & W e Foran o freman 2
(a) 45l
(b) 4
() 35deT
(d) 3T
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36. X hought 4 bottles of lemon juice and Y bought
one bottle of orange juice. Orange juice per
hottle costs twice the cost of lemon juice per
hottle. Z bought nothing but contributed ¥ 50
for his share of the drink which they mixed
together and shared the cost equally. If Z's
T 50 is covered from his share, then what is
the cost of one bottle of orange juice ?

(a} T 7B
(b} ¥ 50
(c) T 46
(dy 30

37. Ten (10) years before, the ages of a mother
and her daughter were in the ratio 3 : 1. In
another 10 years from now, the ratio of their

_ages will be 13 : 7. What are their present
ages ?
la) 39 years, 21 years
(b) 55 years, 25 years
(e) 78 years, 2D years
(d) 49 years, 31 years

38. In a class of 60 boys, there are 45 boys who
play chess and 30 boys who play carrom. If
every boy of the class plays at least one of the
two games, then how many boys play carrom
only 7
(a) 30
by 20
(e} 15
(dy 10

GTHY-T-XMT
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39..

40.

41.

(13-A)

Two equal amounts were borrowed at 5% and
4% simple interest. The total interest afier
4 years amounted to ¥ 405. What was the
total amount borrowed ?

(a) ¥ 1075

(h)

(d)

Twelve (12) men work 8 hours per day and
require 10 days to build a wall. If 8 men are
available, how many hours per day must they
work to finish the work in 8 days 7 -

(a) 10 hours

(b) 12 hours

{c) 15 hours

(d) 18 hours

A milk vendor bought 28 litres of milk at the
rate of ¥ 850 per litre. After adding some
water he sold the mixture at the same price.
If his gain is 12-5%, how much water did he
add ?

{a} 45 litres

(b) 4 litres
{c) 35 litres

{dy 3 litres
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http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DOWNLOADED FROM : WAW | ASEXAMPORTAL. CQOV

42. H Ul # e f g, 9 oy % e @
Y 72 fiFe o W2, 92 f g & o few
I B | AW "6 % feae 9 o 29§ am
ugl fopaar gu=, fie a1 s, & st 2

9
(a) 121ﬁﬁqzrﬁ€f
(b) 15?1.1-1-%13%
© 1212 fime am
11
(d) 157-1-151“1’1:123411'7
43. UF W frdt W § @ UF R B gOH, W@
40 kmph =1 =T & WL WAT AT R | T 5L
15 =M 1 9a1 Sl 8 3 B w5 il 9
% ol 3 R ¥ 60 kmph 1 =11 & =X 1
a1 e & | wiferss, =1 F e e 2 2
(a) WIfAH % W H 55 km H g W ik =il
% TH T2 TG

(b) T % W ¥ 60 km i gft W it =i
% 15 ¢ 9Ig

(c) WIfT &% = # 60 km HI gl W 3k =i
1 Od1 @ % 1-5 52 =E

(@ wifeTs % W F 55 km H gft T 3 A
% 1-5 U< =g

44, X IR Y I fret ww wm A 6 B d
Ao 8 | e X 6 FW B 12 foeq 1 qu =
HHAT 2 | 3HT HW B G0 B T e Y HI
TopeeT Tm = 2
() 16f
b 12fF
¢/ 10w
(@ sfe

45. WWE (12) AR U AF 10 90 *F 16 feg °
U= L Hhd & | 8 AT 3 YHR F 20 T
=t foba &7 & U ot wa & 2
Gy o .12
(b) 24
(c) 36
(d) 48

GTHY-T-XMT

DOMLCADED FROM : WAV | ASEXAMPORTAL. CQOV

46, (02)* % 77 # qxweE fig ¥ gid a8 n =

47.

2 | 98 fe w2 % log,y 2 = 0-30103 % |
n & OF #7 8 ?

{a) 25
(b) 19
el '18
(d) 17

uw fyar ot g3 Fr ag & dee it sim W
HEE 11:3 8 | F=fifigs st w fEn
i

1. 39! AT H I 8:5 & |

2. T I IHH A9 AY F g A FA
T W IhT AT I 9T 11 : 8 B |

I SR ¥ g wEA wd 38 0
(a) a1

(b) Had 2

(@ 12 2gMEf

(d) Fd1HFATTH 2

48, Haw HEHMHE x +y2 5 x—y < 3FT B

(14—-A)

el a2 2
(a) hael oM FggTe H

(b) werH R fgdtr sgafat 4

(¢) Todm ofr geftw soisrt &
(d) gftT i =g =gyt A
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42, The minute hand of a clock overtakes the hour | 46.
hand after every 72 minutes of correct time.
How much time does the clock lose or gain in a
day of normal time ?
{a) Los=e 121 —9 minutes
11
(b Lose lﬁ'?l minutes
11
(¢) Gain 121 % minutes
(d) Gain 15?% minutes
47.
43. A thief steals a car parked in a house and goes
away with a speed of 40 kmph. The theft was
discovered after half an hour and immediately
the owner sets off in another car with a speed
of 60 kmph. When will the owner meet the
thief ?
(a) 55 km from the owner’s house and one
hour after the theft
(k) 60 km from the owmner's house and
1-5 hours afler the theft
(c} 60 km from the owner's house and
1-5 hours afier the discovery of the theft
(d) 55 lm from the owner’s house and
1:5 hours after the thett
44. X and Y together can finish a job in 6 days. X
can alone do the same job in 12 days. How
long will Y alone take to do the same job ?
{a) 16days
(b) 12 days
(¢) 10days 48.
{(d) B8Bdays
45. Twelve (12) persons can paint 10 identical
rooms in 16 days. In how many days can
8 persons paint 20 such rooms ?
(a) 12
by 24
(e} 36
dy 48
GTHY-T-XMT (15-A)
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There are n zeros appearing immediately after
the decimal point in the value of (0-2)25. It is
given that the value of log,, 2 = 0-30103. The
value of n is

(a) 25
(b) 18
(e} 18
d) 17

The ratio of the sum and difference of the ages
of the father and the son i1s 11 ; 3, Consider the
following statements :

1. The ratio of their agesis 8 : 5.

2. The ratio of their ages after the son

attains twice the present age will

be 11 : 8.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(c) Bothland2
(d) Neither 1 nor 2

The solution of linear inequalities x + ¥ = 5
and x — y = 3 lies

(a) Only in the first quadrant

{(b) In the first and second quadrants
{¢) In the second and third quadrants
id) In the third and fourth quadrants
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49. 7 fom w0 # f& wlet 12 - g2 = 0 o]t s Ao 04 (AW Wi % fere Rreered
(x —a)? + y% = 1 %1 Uohel 9T BT & | 950+h | R P hifemn
e aFamFng?

e XII ! T qe 1, 559 famdl sie fasm
4 UM R, 62% Wiftwures § UG 7, 60% WEANE

@ V2 # 0| 7Y, 25% Wit o g e § aw g,
: 30% Wi 3R wrEEwIEe # 9w g, 28%
(b) 2 | sfter formm =it @ 8 o g | e 24 fEneft
|t faw | e g |
© -2 51. T st framft @t it et # 77 g0 2
(a} 6
(d 1 b 5
() 4
d 3

52. fraa wftem foeneff dwds vs famg o um

7 ?
50. AR o, p Ay TqRE A =ax® +bx® + cx +d F (@ 21

b) 2
I E, Ao+ p2 4+ TFEF AT R 9 E; ;’
C H]
d 27
b2 —ac 53. aft Renffai & den 360 2, @ wnAFT &
L fert 3 fopery foreneff ot w2
(a) 270
{b) 263
9 (e) 265
b = ﬂzac (d) 260
54. ¥ifawame ofk w@rEATE 2l 1 uE B A
foenfRn &t T=m @, W fBEm ek
() b? + 2ac difdeeemes gt ® ua T e d
b? T A A R B e &, S
77
{a) T7:10
2 Y L
@ P ‘fa“ b 10:7
a () 9:7
dy 7:9
GTHY-T-XMT (16_A)
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49. Tt is given that the equations x2 — y2 = 0 and
(x — a)2 + ¥? = 1 have single positive solution.
For this, the value of ‘a’ is
(a) 2
by 2
bl.
(€ -2
dl 1
a2,
50. If a, B and y are the zeros of the polynomial
fix) = ax® + bx? + ex + d, then o? + % + v¢ is
egual to
53.
&
g 2%
a
b2 - 2ac
(b)
a
ad.
b? + 2ac
(c) e
b
2 _
() b 223[:
a
GTHY-T-XMT (17-A)
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Consider the following for the next 04 (four)
items that follow :

In an examination of Class XII, 55% students

passed in Biology, 62% passed in Physics, 60%
passed in Chemistry, 25% passed in Physics and
Biology, 30% passed in Physics and Chemistry, 28%
passed in Biology and Chemistry. Only 2% failed in
all the subjects.

What percentage of students passed in all the
three subjects ?

{a) 6
(b) 5
(c) 4
(d) 3

What percentage of studente passed in exactly
one subject ?

(a) 21
(b) 23
(c) 25
d) 27

If the number of students is 360, then how
many passed in at least two subjects ?

(a) 270
(b) 263
(c) 266
(d) 260

What is the ratio of number of students who
passed in both Physics and Chemistry to
number of students who passed in both
Biology and Physics but not Chemistry ?

(a) 7:10
(by 10:7
(e 9:7
) T:9
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55. Tt st § Beat & Snofleor =1 20 (3a) fem

56.

a7.

GTHY-T-XMT

T {7 AR 7

(a) iR WO (AT o)

(b) FFEEEF T (e Tha)
(c) STaet AT (Fretdlet whar)

(d) FHTE "o (LT whet)

AT A % 3ffEd 3F 65 8 N IEum B %
e 3 70 ¥ | Al AT Sigum w fe 3@
q 3ftaa H% 67 B4 8, T g A % B!
AT 1 IIATT B % BHEI Hl GEA § I
FE ?
{(a) 3
by 1
) 8
(d 2

28 = W ba

19 SEoii &t mfersr (difex) 30 & 1 @ el
Te fou o 8 R 37k A 8 3l 32% | oW
21 Teqort i wifedren #4912 7

(a) 32
(h) 30
(el 20

(d) 379979 29 (221) & Fror Fuife 78 fFm
T T

4 B Y oft ot (SemEd) S e agd
2, Foreft smamar sgyw @ seR

(a) TIdGR g i gt wam 8
ib) ferrtae fewm 27 6 vl @ 2
(¢) &l o1 T&d1 &

(d) Haa 7t hafda g 2 IR 2w ()
AveFa Ay favaad 5 9 2
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{18-A)

59. #H WU %, 3R %, (J& %, > %) HUWw:

n13ﬂ1n2 (Gﬁnﬂqnljﬁaﬁm@faﬂ'ﬂﬁ?ﬁ
% Wed € | 9t 3% firen ¢4 WAty x R,
frafofaa i & FRwm w2 2

(a) X <XxX<X,

. F=fated sl w faer Fifw .

FYT 1 :

w1t a9 ot sfefera 51 oedt & 99 fR
ARATET 2 % DR Siave I a |
F:UT I ;

HTfErEFT v foudy i 2 |

39w woHl & dey ¥ f=fafas § @ =9
T Hal & ?

(a) @eH I3 FY9 I <H G § oft T
T, 94 1 Ft E&t =arer 2

(b) A I 3N FYT I AT T8 § 3T Fe
11, [ 1 hi T8 == 98 &

(¢) Y IHE & W HeH 11 Teid 2

(d) HYT I7Ed & W HYT 1 98l 8
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55. Data on ratings of hotels in a city is measured
on
(a) Nominal scale
(b}  Ordinal scale
(c)  Interval scale
(d) Ratio scale
56. The average marks of section A are 65 and
that of section B are 70. If the average marks
of both the sections combined are 67, then the
ratio of number of students of section A to that
of section B iz
(a) 3:2
by 1:3
el 3:1
dy 2:3
57. The median of 19 ohservations is 30. Two
more observations are made and the values of
these are 8 and 32. What is the median of the
21 observations ?
(a) 32
(by 30
(e} 20
(d) Cannot be determined due to
ingufficient data
58. As the number of cbservations and classes
increases, the shape of a frequency polygon
(a) Tends to become jagged
(b} Tends to become inéreasiugly smooth
(c)  Stays the same
(d) Varies only if data become more reliable
GTHY-T-XMT
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59.

(19-A)

Let X, and Xg (where X3 > X; ) be the means
of two sets comprising n; and ng (where
n; < np) observations respectively. If X is the
mean when they are pooled, then which one of

the following is correct 7

(a) X <X <Xy

i&} {il—i}+(ig—i)=ﬂ

Consider the following statements :

Statement I :

Median can be computed even when the end
intervals of a frequency distribution are open.

Statement I ;
Median is a positional average.

Which one of the following is correct in respect
of the above statements ?

(a) Both Statement I and Statement Il are
true and Statement II iz the correct

explanation of Statement [

(b) Both Statement I and Statement 11 are
true and Statement II i=s not the correct

explanation of Statement [

(¢) Statement I is true but Statement II is
false
(d) Statement I is false but Statement IT is

true
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61.

62.

(@) J2-1
s
4 Bl
22
3 +1
(c) d
5 2.2
2.2
64. A <fif9T sin (A + B) = % T cos B = %
%, W&l A, B =FHIM § | tan (2A — B) feas|
T B 7
(a) 1/2
(b) /3
1
(e) —
3
() 1
GTHY-T-XMT

"ﬂﬁuuaﬂ=i,ﬁlﬁﬂ{9{%%,?ﬁ

J5
2tan0 ey d ¢
1-tan® 6
(a) 4/3
(h) —4/3
() 1/3
@ -2/3
A% 0<0<90° 0 < ¢ < 90° 3 cos 0 < cos ¢
ar fafeifiea & & .91 v adt & 2
(a) B<d
(b)) O=4¢
{e) O+¢=90°
(@) =1 Fese 7 fapren 51 @

r B ot wF iR TEE F i woh
SR AIET U HWST O B | 9 % U faeg &
S % Y H1 I B0 30° B | g 3R
d gl IeH & We vl a9 wS1 WF fmr @
@, IAF B 45° 2 | U8 h ¥ 1 B FLI
fereeh mt=T & ¢
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(20-A)

Feaferfean wuat o fomm s .
cos B cos 0O

1. 9 =4, W&l
l—-smbt 1+sind

0<0<90°8, T 6 =60

2. ﬂﬁatanﬂ+wtﬂ=5cusec8, *—ﬁf
0 <0<90°%, d 6=60°

Ik A H ¥ BHAIE GE BE 2

(a) ohael 1

(b) ohee 2

() 13 2

(d) Far 1T E 2

Ffefan st w fomm i

2 2 ; i
1 cuszﬂ:l—%,ﬁﬁ'p,qw

Treafas G@ 2, dhae oft ave & 99
p=0q.

4 &
P _1, 9@ p, g YW
(p+gq)

Tt TEAT &, Sad T G99 2 9
pP=q.

ST FeAT ¥ wHmy Od 28 2

(a) $ad 1

(b) a2

(el laﬁIEEﬁiﬁ

(d A1 TH 2

2. tan?0=

67. F=fafiga st w famm Fifsw .

1. cnaﬂ+sc«c8_ﬂi‘1ﬁ1ﬂl'5%wqﬁ_€l

Tl |

2. sec0 + cosecZ O FH ff 4 W T T B
T |

IR FeAl § & wiE-gUE wd 88 2

(a) HEA 1

(b) Had 2

(©) 13 238Ft

d) T 1A 2
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1 n 65
61. If cos 0=——, where 0<86<—, then .
J5 2
Lﬂg- is equal to
l1-tan~ 9
(a) 4/3
(b) —4f3
() 1/3
(d) -2/3
62, If0<B<90°0<d¢<90° and cos © < cos ¢,
then which one of the following is correct 7
(a) B<d
(by 6>¢
(e} 6+ ¢=90°
(d) No conclusion can be drawn GE.
63. On the top of a hemispherical dome of radius
r, there stands a flag of height h. From a point
on the ground, the elevation of the top of the
flag is 30°. After moving a distance d towards
the dome, when the flag is just visible, the
elevation is 45°. The ratio of h to r is equal to
ta) +f8-1
3+1
w Y3+l
242
© J3+1 d
242
242
64, Letsin(A+B)= % and cos B = % , Where 67.
A, B are acute angles. What is tan (2A - B)
equal ta ?
(a) 1/2
® 3
1
EY =
J3
d) 1
GTHY-T-XMT (21-A)
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Consider the following statements :

cos O
1-sin® 1+3s8inf

0 <8 < 90°, then 0 = 60°,

cos 6

. =IF =4, where

2. If 3 tan O + cot 6 = 5 cosec §), where
0 <0 < 90° then 8 = 60°.

Which of the statements given above is/are

gorrect ?

(a) lonly

(b) 2only

{¢) Both1land2
{d) Neither 1 nor 2

Consider the following statements :

&
1. wszﬁzl—u, where p, q are
2pq
non-zero real numbers, is possible only
when p =q.

4pq
(p+ qhz

non-zero real numbers, is possible only
when p=gq.

2. tan® 0 = -1, where p, g are

Which of the statements given ahove is/are
correct ?

(a) 1only

(b) 2only

(e) Both1and?2
(d) Neither 1 nor 2

Consider the following statements :
1. cos © + sec 0 can never be equal to 1-5.

2. sec? 0 + cosec? B can never be less than 4.

Which of the statements given above is/are

correct ?

(a) 1only

{(b) 2only

(¢) DBothland?2

{d)  Neither 1 nor 2

Court esy: CDS
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68. =R sin®x+sinx=1%,dl 78. UHHAH 5 HAU HI dEn (@l N w3 H
cos!?x + 3 cos!x + 3 cos®x + cos® x F WA Big) Tt o, el o $9% =9y
TR ? 6m, 4 m 3M 25 m &, U= & F & ) v=
Egi El w0 OH °, g I H Y% § UH S
ey 1 mgﬁmﬁmﬁﬁﬁm%lﬁ?%ﬂﬁ
(d 8 1%%%@“&@@1@%3&1%%

69. ﬂﬁSsinﬁ+5ﬂﬂa{]=4%,?ﬁ ﬁzﬂﬁ:ﬁamhmmm%|h
(3 cos B — 5 sin 0)2 % H FT & 7 A % I srmaweh fossit it v et # 2
€ 1 | @

E;P; j—lg (b) 12

70. AfE cot 6 (1 + sin ) = 4m 37K (e 18
cot 8(1 — sin D) = 4n B, A F=fafEs § & (@ 14
HH-H T Fel 8 ?

(a) (m?+1n?2=mn 74. m?ﬁmsﬁmaﬁﬁﬁ%ﬁﬁm
(b) (m?-n??=mn ﬁ%T%W%@GﬁHﬂGﬁWWW'@|
(¢) (m?-n??=mn? f=fafan wo w fg=mr fifsw ;

(d) (m?+n??=m?n2 1. T % 8% 3K S & &9%a & AW

71. 3fe v muwm fige w1 snum ok sl e 2:1% |
(uz—vzjlaﬂ?[u2+v2]%,3ﬂ'{aﬂqﬂﬂ$ﬂm r 2
2016 3 3¢ B, il Biyw it wfe fra 2 2 . E;?W’TEQW%WW
(a) 224FFHTE
S}n ﬁ:ﬁ IR HeH! § F BE-A T B 2
(d) 576 TS (a) I 1

72. | T e A R e e § o (b) Had 2
9 & | 59 Jiada o 594 dTel R off Harla & iRt

T H BB o1 BT 7
)2 ‘ (d) Ta13mAE 2
(a) —
2 . .
: TE.WﬁHHﬁ?ﬁT({ﬁcm,ﬁcmaﬁTTcm%I
@ V3L Brgs %1 daee @ fea 2 2
4
" (a) 14-9cm?2
)
(e) T (b) 147 em?
& 5_3 (e}  14:5 ¢cm2
6 (d) 14-3 cm?2
GTHY-T-XMT (22-A)
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68. Ifsin? x + sin x = 1, then what is the value of | 78.
cos'Zx+3cos®x+3cosPx+cosBx?
() -1
by 0
ey 1
d) 8
69. If3sin 0 + 5 cos 8 =4, then what is the value
of (3 cos O — 5 sin 0)2 7
{a} 9
(b) 12
() 16
(d) 18
70. If cotB(l +s8ind)=4m and
cot 0 (1 - sin 8) = 4n, then which one of the
following is correct ?
(a) (m2+n22=mn 74
(h) (mZ-np22=mn
() (m2?—-n2)2=mZn?
(d) (m2+n?)?2=m2n2
71. If base and hypotenuse of a right triangle are
(u2 — v2) and (u? + v2) respectively and the
area of the triangle is 2016 square units, then
the perimeter of the triangle may be
(a) 224 units
(b) 288 units
(c) 448 units
(d) 576 units
72. - A circle is inseribed in an equilateral triangle
of side of length . The area of any square
inseribed in the circle is
72
fmy . = 75,
i
V3 I*
(b) 1
EE
() %
(d) T
GTHY-T-XMT (23-A)

DOAMNLCADED FROM : WAV | ASEXAMPORTAL. CQOV

Walls (excluding roofs and floors) of 5 identieal
rooms having length, breadth and height 6 m,
4 m and 2-5 m respectively are to be painted.
QOut of five rooms, two rooms have one sguare
window each having a side of 2-5 m. Paints are
available only in cans of 1 litre; and 1 litre of
paint can be used for painting 20 square
metres. The number of cans required for

painting is
(a) 10
(hy 12
(e) 13
d) 14

Let 8 be the parallelogram obtained by joining
the mid-points of
Consider the following statements :

the parallelogram T.

1. The ratio of area of T to that of Sis 2 : 1.

2. The perimeter of § is half of the sum of
diagonals of T.

Which of the above statements is/are correct 7
(a)
(b)
(¢) Both1and?2
(d)

1 only
2 only

Neither 1 nor 2

The sides of a triangle are 5 c¢m, 6 em and
The the

approximately

T cm. area of triangle is

(a) 149 cm?

(bY  14-7 em?2
() 145 cm?

(d 143 em?
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76.

78.

79.

GTHY-T-XMT

DOWNLOADED FROM :

s g yEe fwee &5va 4 m?d, S
=T 3R 5 m SIS & UH g 99 & | =W
I % 99 $! HEifed e 9T TES F FA
&Ahe fhaar 2 7
(a) 349nm?2
(b) 2891 m?2
(c) 209 m2
(d) 1497 m?

T I I IPETT IS ST6A 462 cm? B |
o fost S5 35 cm B | I & UK H
Fen=wde

(a)
(b)
(€0 4-2cm

84 em
65 cm

(d) 32cm

TH AUGHE we H duedt (U Fh) TH
FFETHL P53 ST F1 8§ | W b IHAB AN
3787 % o9 = AR e g 2

(a) 60°
(b)
(c) 30°

(d)

THH UREE gE 9% 3E $u M
EA%Bel 1 AET B, A WP AW H =
fraft 2 2

72 em

T CIn

45°

15°

(a)
(b)

(e} 1/mem

(d) Efﬂ'r cm

WAV | ASEXAMPORTAL. CQOV

80.

81,

(24-A)

20 cm TS, 15 cm SSE 3R 10 cm H9TE T@t
Uh AEAHR SAF B ST T H HAE
T H H1el 9 2 | uH i e 9 de
1 Bhft ?

(a) 12
(b) 16
(c) 20
(d) 24

ofe wh w9 & faeol ) =g 12, @ m wm w

Fel T3 SEee fohaar & 7
(a) 3

b 372

() 2I°

(d) 212

. % guarg e, wE @it o us 99 & uiEm

L 8 | AR T, 8 3 ¢ e Frye & ava,
1 &1 §a%a 3t g9 1 dwa ffie . §,

At Frafafiga & @ R o 2 2
(a) T<S<C
(b) S=<T=<C
e} C<«S8«<T
d T<C<S8

ﬂ‘?ﬂmﬁ*ﬁﬁ% BB A (7 — 44/3 ) cm?
HT (7 + 443 ) en? & | TTFT W9 yemaAt

AT T 8 ?

(@) 7-443
by 7-343
0 5-43
d 5++3
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76. There is a path of width 5 m around a circular
plot of land whose area is 144m m® The total
area of the circular plot including the path
surrounding it is
(a) 3497 m?

(b) 2897 m?
(¢) 2097 m?
(d) 1497 m?

77. The lateral surface area of a cone is 462 em?.
Its slant height is 35 em. The radius of the
base of the cone is
(a) 84cm
(b) 6:5cm
(c) 4-Z2em
(d) 32cm

78. A semi-circular plate is rolled up to form a
conical surface. The angle between the
generator and the axis of the cone is
(a) 60°
{b) 45
{c) 30°
(d) 15°

79. A solid right cylinder is of height = em. If its
lateral surface area is half its total surface
area, then the radius of its base is
(a) wf2Zem
(b} mem
() 1fmem
(d)  2fmem

GTHY-T-AMT
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80.

Bl1.

BZ.

83.

(25-A)

A rectangular block of length 20 ¢m, breadth
15 c¢m and height 10 cm is cut up into exact
number of equal cubes. The least possible
number of cubes will be

(ay 12
(b) 16
(c) 20
(d) 24

If the diagonal of a cube is of length [, then the
total surface area of the cube is

(a) 32
by J31%
() 21°
(d) 20

An equlateral triangle, a square and a circle
have equal perimeter. If T, 5 and C denote the
area of the triangle, area of the square and
area of the circle respectively, then which one
of the following 1s correct ?

(a) T=<S<C
(b) S<T=<C
(¢) C=H5«=T
(dl T<C=8

The areas of two similar triangles are
(7T-4+/3)em? and (7 +4+/3)cm?
respectively. The ratio of their corresponding

sides is

(a) T-—443
(b} 7-343
() 5-+3
(d) 5+ 43
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84,

85.

86.

o g9 i Ser Iuh e VB TR 1
e g =g =9 W At famen wn s, &
M W Iaa P MM R R kTR | kW
HH &3 ?

(a} 5
by 2
© 1/2
@ 15

s 3Ys ABC H, ¥od AB, AC QI8 et &
3R~ ABC 31 2 ACB % @1l &Il & g
DT yfd=ee #d 8 | 3R 2~ BAC =508, @
7 BDC Tereeh s0e & 2

(a) 115°
(b} 65°
(e)  a5°
(d) 40°

& WAl ot Sesal 1: 3% um H # | Al
I ATE R BeAd 3:1 % Ag9E § E, A

I JTFART FT T FT B 2
(a) 1:1
h} 2:1
i1 S 5
@ 9:1

87. I T @ AB 3R CD fag 0 W 35 WK

GTHY-T-XMT

sfo=og 0l & % 2 AOC=5 £A0DE, @ O
T &9 ST |1 IV F49T R 2

(a)  40° 40°, 140°, 140°
(b)
(e)

(d)

307, 30°, 150°, 150°
30°, 45°, 757, 210°
60°, 60°, 120°, 120°
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88.

(26—A)

af% TF g P 3 ¥R woar & & @ Fem
gt A R B & sadhl il & @il &1 TEw

I dRgrw g ey

(a) TF W @l

(b) 99

(¢) AB I &9 g
(d) T <=a dh

afe. ABC U "whvl By & et AC Sw Hu

g, a1 Fafafigs 0 @ F9a v o § 2
(a) AC’<aB®+BC?
) Ac?> aB® + BC?
© Ac®saB?+BC

(d) AC?:=AB? +BC®

UF Y 9 H GRS fhaaT B, S 9 ¥ @
zacma?fgmm@iqmaﬂﬁqﬂazﬁaﬁ

Al ¥ ¥ F W g9 4 wfEg § W 3
1 = et w1 e e R o

(@) (4-ma

)  (r-2a2

(© (B-ma2/2

@ (u-2la?2
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84. The chord of a circle is /3 times its radius. |88,
The angle subtended by this chord at the
minor are is k times the angle subtended at
the major arc. What is the value of k 7
fa) b
(b) 2
) 1/2
(dy 1/5

85. In a triangle ABC, the sides AB, AC are
produced and the bisectors of exterior angles
of ZABC and ZACE intersect at D. If
Z BAC = 50°, then ~ BDC is equal to 39
{a) 115°
(b) 65°
() Bb®
(dy 40°

86. Two cones have their heights in the ratio 1: 3.

If the radii of their bases are in the ratio 3: 1,
then the ratio of their volumes will be

()} 1rl

(B} 211

e} 3:1 90,
. B

B7. If two lines AB and CD interzect at O such
that ~ AOC = 5 # AOD, then the four angles
at (O are
(a) 407, 40°, 140°, 140°
(b)  30°, 30°, 150°, 150°
(€)  30°, 45°, 75°, 210°
(d) 60° 60°, 120°, 120°

GTHY-T-XMT (27 -A)
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If a point P moves such that the sum of the
sguares of its distances from two fixed points
A and B is a constant, then the locus of the
point P is

(a) A straight line

(b) A circle

() Perpendicular bisector of AB
{(d) An arbatrary curve

If ABC iz a right-angled triangle with AC as

ite hyvpotenuse, then which one of the

following is correct ?

@) AC®<AB+BC?
() AC®saB’+BC?
(0 AC®<AB®+BC?
@ Ac®zaAB®+BC?

The area of the region bounded externally by a
square of side 2a cm and internally by the

circle touching the four sides of the square is

(a) (4-nm)a?
(b)  (m— 2)a?
{e) (8-maZf2
d) (m— 2}&2}'2
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91.

94,

= & w arpfa #, ABC T wEm i @
Wl 2 A =90°, AB = p em 3 AC =qcm%|
By 6 dF gensll B = wEe enfew
e o # S R el d femmn mm @
TR W 1 &%, a1 em H, foremr & 2

A

B C
(a) pg
(b) wlp?+ q?)/2
(e n(p?+q?)
(d) pg/2

92. :ﬁ%?ﬁﬂé \?ﬂ'ﬁfﬁlﬁ, ﬂﬁﬁﬁw.ﬁcm%, R
AT =4 em B | T9I3@T PT i wams fhadt 2 2
P
TR - a—

(al Gem
(b] 8em
{c) 9cm
(d}) 10em

= )t i€ arpfa #, 9 em T T Uw g w|

=H ABCD & | AB, BC 3t CD @R &ras
% & | AB 3 BD %! =4H &t HAeigd Ei Y
T 3Er T enefa # fommn mn R | et 1w
T ST TR 7

(a) 9n
(b) 27m
{c} 36=n
dl &lr
GTHY-T-XMT
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95.

96.

(28—-A)

= & ¢ stepfa H, 2 BeD formes e 27
, D

AX £
B
(a) 70°
b 75°
© 80°
@  90°
f2r &t 78 sl §, AB W g9 * =W @

forger g g om 2 1 fm M & &
# ECD = ~ EDC = 32° 8, @ ~CEF 3
2 COF Shusl: 9497 8 ?

" C
Al B
0O E

D
(a) 32° 64°
(b) 64°, 64°
(©) 320, 39°
d) 64°, 32°

9t @ ¥ spfa 4, AABR~APQR 2 | 3§
PQ = 3 cm, AB = 6 em, BR = 82 cm 2
PR = 52 cm &, d QR 3 AR sH9l: 471 3 7

{a) &2em, 10-4 cm
(b) 41lcm,6cm
(e} 26cm,52cm
(d) 4-1cm, 10-4cm
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91.

92.

GTHY-T-XMT

In the figure given below, ABC is a
right-angled  triangle Z A = 90°,
AB =p em and AC = g em. On the three sides
as diameters semicircles are drawn as shown
in the figure. The area of the shaded portion,

in square cm, is

where

A

B C
{(a) pg
(b) m(p?+ q?)/2
(¢) nlp?+q?
(d) pqgf2
In the figure given below, the radius of the
circle is 6 cm and AT = 4 em. The length of
tangent PT is

(a) 6Gcecm
(b} Bem
(c) Scm

(d) 10em

In the figure given below, ABCD is the

diameter of a circle of radius 9 cm. The
lengths AB, BC and CD are equal. Semicircles
are drawn on AB and BD as diameters as
shown in the figure. What is the area of the
shaded region ?

fa) 9r

(b 27=n
{e) 3Bn
{d} B8ln
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94,

95.

6.

(29-A)

In the figure given below, what is ~ BCD

equal to ?
{(a)y T0°
(b} T7&°
(e} 80°
d 90°

In the figure given below, AB is the diameter
of the circle whose centre is at 0. Given that
Z ECD = 2 EDC = 32°, then ~Z CEF and
£ COF respectively are

(a) 32°, 64°
(b) 64°, 64°
(e) 32° 32°
(d) 647, 32°
In the figure given below, A ABR ~ A PQR. If
PQ =3 cm, AB = 6 cm, BR = 82 ¢cm and
PR =5-2 ¢m, then QR and AR are respectively
P

e,
N

{a) 82cm, 10-4em
{(b) 41ecm, 6cm
(e} 26cm,52cm
(d) 41lcm. 10-4cm
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97. = & 7w R, ABC w iy & Rl AB, |99. FR @ 7S smpl A, ABC vs e B g,

BC W @9 ¥ | 39% Hf4feF BD, ACW & ® | et T2% Yo 30 em o@E I ® | XY, BC
@ AD = 9cm 3 DC = 4 em 2, @ BD #1 % GO #, XP, AC % ®W=R 8 3N YQ, AB
dars w R F A9 § | 9% XY + XP + YQ, 40 cm &, A
PQ 1 O FT &7
B A
(a) 13/36em x 5 = .
(b) 36/13 em fa) 5em
by 12em
() 13/2cem @ 15
{d) 10em

(d) 6ecm 100. 1 @ 7 arepfa #, ABCD, 4 em S Yo STl

TH T B | I/ HE W 2 om M A Th 9

% =gaty w2 oy o ¥ 9 2 cm =W AT

98. M= & 7 Pl d, 93 I gy w =W wF ga ft g1 fem 9w R | owifed &
108 cm | SEITRRA &7 T SAHA 172 TR T R 7

7
B ( )

A B

C

(a) 201xcm?

(b) 18637 cm?2 (b) *r% oiid?

() 4057 cm? (e) 92 om?

(d) 76957 cm? _— g ag
GTHY-T-XMT (30-A)
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97. In the figure given below, ABC is a triangle
with AB perpendicular to BC. Further BD is
perpendicular to AC. If AD = 9 em and
DC = 4 ¢m, then what is the length of BD ?

B
/ /E\x
C D A
(a) 13/36 cm
(b)  36/13 cm
() 13/2em
idl 6em

98. In the figure given below, the diameter of
bigger semicircle is 108 em. What is the area
of the shaded region ?

«— G4 em —«— S54em —>
(a)  201x em?
(b) 186-3m em?
(¢)  405m em?
(d) 769-5m cm?®
GTHY-T-XMT
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99,

100.

(31-A)

In the figure ABC s
equilateral triangle with each side of length
30 em. XY is parallel to BC, XP is parallel to
AC and YQ is parallel to AB. If XY + XP + YQ
ig 40 em, then the value of PO is

given below, an

A
" / \Y
B P Q C
(a) Becm
(b} 12 cm
(el 15 ecm
(d) 10cm

In the figure given below, ABCD is a square of
side 4 em. Quadrants of a circle of diameter
2 cm are removed from the four corners and a
circle of diameter 2 cm is also removed. What
is the area of the shaded region ?

D C

7

A B

(o) 5E cma

9
h) ?1 cm?

9

5 ;
{¢) 9= 2
C = cm
(d) gg i
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SPACE FOR ROUGH WORK

GTHY-T-XMT (32-A)
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& & & foro smrg
SPACE FOR ROUGH WORK
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w= W & forg wTE
SPACE FOR ROUGH WORK
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&= ® & foe ST
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C.: GTHY-T-XMT Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR TTEMS,
ETC. IF 80, GET IT REFLACED BY A COMPLETE TEST BOOKLET. ‘

2. Please note that it is the eandidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/diserepancy will render the Answer
Sheet liable for rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet.
6. All items carry equal marks.
7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admizsion Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MAREKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each question for which a wrong answer
has heen given by the candidate, one-third (0-33) of the marks assigned to that question will be
deducted as penalty.

(i)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.

(iii)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50
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